Math Olympiad (Class 7*")

Total Marks: 30 2022-23 Time: 1 Hour
Name: District:
Father’s Name Block:
Class: Village:
School Name: Date:
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Note: Read all the questions carefully. Each question carries 1 mark. There are four options for each question out
of which only one is correct. Put a tick ( v" ) mark on the correct option.

1. “far Aftmr T 2 f3orst &9 5 736 3 15 Y3 Jer 3~ fen &2t Jo fodhnt @57 ATt mtegs 92 |
“On adding 5 to two third of a number, we get 5.” — Choose the correct equation from the following :
a) 5x+-=15 b) 2 x+ 5=15 c)sx+ 15=5 d) 15x+> =5
2. & U3T &9 / Find the value of: 4%)(%)( ZO%X 1§

a)84; b) 84> c) 84 d) 823
3. 35 f@dntt 28 f&g3™ At T? Which of the following is correct?
a) 0.813<0.732<0.638<0.512 b) 0.658 <0.732<0.512<0.813
c) 0.512<0.658<0.732 <0.813 d) 0.512<0.732<0.658 <0.813

4. H& U3T &9: / Find the value of: (0066) (%)

2101 b)9.9 9.0 d)10.01
5. f&x Yifunr f&8° uA Iz &t 35% nid I7die I51 I3 & 80 wig yu3 i3 i3 BT 60 midl &% <& J
famrm | Jiftm T & nix UST &S| A student has to secure 35% marks to pass an examination. Harjeet obtained

80 marks in this exam and failed by 60 marks. Find the maximum marks.
a)200 b)400 ¢)300  d) 100

Q6: fg33 <9 AB [ CD J1 Iz 3 aEst § s &% U3
FE5 1: fa3 aF fd39 29 d i3 afexisg dz I5 |
FEG 2: fo3 aF fI39 29 a= fni3 h 9999 T& |
Jo fodintt 35" At feasu g2
In the figure AB || CD. Study the given statements:

Statement 1: d and a are alternate angles.
Statement 2: Angles f and h are equal.

Choose the correct option:

a) ©< J8& HI Ja/Both statements are true.
b)XEs 1 A9 I N3 IE5-2 ) J I Statement 1 is true and statement -2 is false.
c) ES5-1 35 J »3 q8&-2 HI J1Statement 1 is false and statement -2 is true.
d) T2 JEs 3& Jo Both statements are false.



Q7:22%m%10@m_ Jo fodnrt &9 faadtntt € Afunret T fegag AfES 9

Product of 22% and 10 lies between which of the following two numbers?

a) 3and7 b) 21 and 25 c) 218 and 222 d) 223 and 227
Qa: _?4 ~0=____
a) _TS b) 0 c) UufgsTh3 &J1/Not Defined d) _?4

Q9: fEx AH3 © 1/5 fefonigel ITHACT® 3T I6 M3 Ial g9 fefonmaghnt w7 1/6 fefenraat g
3T I6 | 7ad fEH 703 T 20 fefonrgdt I3 <t odt g% 3T AHS © oo fefoniggn &t fasst usT a9 |
1/5 of students of a class play Basket Ball and 1/6 of the remaining students play Football. If 20 students of this
class do not play any game, find the total number of students in this class.

a) 30 b) 40 c) 60 d) 31
Q10. feviaa § AI® 9 & & Simplify the expression:  —3[2 (y+1)+3]-5
a) 6y-20 b) -6y c) 6y+20 d) -6y-20

Q11. fea 379 & Buet (3x-27 ) H. T1 fem & 35 g9rag cfont K9 dfent AfeT J1 I 233 F BIE U™ a9 |
Length of a wire is (3x-27) m . it is cut into three equal pieces. Find the length of one such piece.
a) (x-27)m b) (x-18)m ) (x-9)m d) (x-3)m

Q12. f&3 T fI39 fSg wet &t farest usT a9 |

Find the number of cubes in the given figure

a) 10 b) 11 c)9 d) feget f&3 A8 &t (none of these)

013. fe3 & fg39 f<9 AD=CD »i3 AB=CB J 3 J& fodit f&8° faaz™ At T2
a)A ABD = A BCD b) A ABD = A CBD on
c) A ABD = A DBC d) AABD = A DCB

Q14: &3 fI39 RO AT 21 + 22 =80° I 3T 24 T HY U™ JJ|

In the following figure, if £1 + £2 = 80°, then the measure of 24 is equal to:
a) 50° b) 100° c) 140° d) 130°

Q15: 73 fEa aE Mg AYI d& € gaie 3 36° we v 3t fegst f&8 937 ae gz I7
If an angle is 36° less than twice of its supplement then the greater angle is
a) 72° b) 100° c) 108° d) 100°

Q16.UfIBMIT 6 YIs Hftmiet &7 HOH™S 3T &J | Find the Mean of first six whole numbers.
a) 2 b) 2.5 )3 d) 3.5



Q17. € nIu Tag Tt fdatt AHTHS Juret et 97
How many lines of symmetry does a semicircle have?
a) 0 b) 1 )3 d) 3.5

Q18. AHAET 337 &8 mHdE &8z =@ fea g At gam &t 75% J »i3 f3gA = ufory 204 AH 3178 3
g2 IAT UST A |
In a right angled triangle one of the sides making right angle is 75% of the other and perimeter of the triangle is
204 cm. Find its smallest side.

a) 85cm b) 17 cm €)68 cm d) 51 cm
Q19) fd39 fTg gfen »ifd=s a1 =7 °439e® U3T I9 | (1 = 3.14)
Find the area of the shaded region in the given figure. (r = 3.14) & _
a)7.36 m’ b) 7.26 m? ~om
c)7.29 m? d) 7.06 m*
4m
Q20) . f&3 fig39 &g A9 AB = AC W3 BD = DC I 3 LADC =? A
In the given figure, if AB = AC and BD = DC then £ADC = ?
a) 45 b) 60 c) 125 d) 90 8/, AN

D
Q21) fEx It § fEx fen@st Wi 52 W3 8t § 1:3 @ wgu'3 Qg g% J1 #a9 gt § 21000 §: 1 I
3t 3¢ § it I usT a9 |
A father divides a sum in the ratio 4: 3 between his son and daughter. If his daughter got Rs 21000, then find

the share of his son.
a) Rs. 28000 b) Rs. 18000 c) Rs. 49000 d) Rs. 27000

Q22) fex At Tt Aitm™ 3° 10% <0 I 37 Tt Aft ufgelt Aftmr 3 {38 Y=t we J7
A number is 10% more than the second number. Then by how much percentage the second number is less
than the first number?

a)10% b) 10-% c) 9% d) 9%

Q23) i It ‘3 18 Hdtfentt = 8% < €9 &% AOds fawH 420 JuR J| ITH U3 3|
On an amount, simple interest of 18 months at 8% per annum is Rs. 420. Find the principal.
a) Rs. 3500 b) Rs. 4200 ¢) Rs. 5250 d) Rs. 6300

Q24) A 10.25 U Y3t =341 Hied & €9 &8 30 Hicd 88 We3™™ad Uyse 3 Ceist Sarge € Hao'5227.50 gue
3 3 usTe & IFH U3 I3

If the cost of tiling a rectangular plot 30 m long at the rate of Rs. 10.25 per m” is Rs. 5227.50. Find the breadth of this plot.
a)20m b) 25 m c)50 m d)17m



Q. 25) A faR 33 37 <9 HOME & ERIH f3femim Fier 3, 37 @1 37 <9 ROSE & fa= fafimr Ararm

If in a code language HOME is written as ERJH, then in same code how will ROSE be written?

a) OPRH b) ORPH c) OHPR d) ORHP

Q. 26) 89 fI39 g€ A 3 degs & yar a3

Identify the figure that completes the pattern.

9

) (a) (D) (©) (a)

Q. 27) Choose the correct mirror-image of the figure (x) from amongst the four alternatives (a), (b), (c), (d) given along with it.

&3 9@ 99 feswy™ (a), (b), (¢), (d) & fF39 (X) T #It Aa-fg39 Tel

D | DI POV

(X) (a) (b) () (9)

Q. 28) Which will be next leap year after 20207
2020 3 ST WIS U T 7S I3 Jeam?

a) 2026 b) 2029 c) 2103 d) 2024

Q. 29) A SE-Y3I, €39 gE Aer 3, €339-Uas, UsH gt 7T I w3 feg yfpur At SfdSt 3 3¢ s UeH ot 29
If South- East becomes North, North- East becomes West and this trend is continued, what will the original West become?

a) QVS'H-EE’H (North- East) b) Evrbe-g_d’H (South-East)

c) ©YE (South) d) SHE-U&H (South-West)

Q. 30) fi&3t ot B3t g udt =t J: Choose the correct option to fill the blank space:

40, 39, 41, 38,42, 37,43,
a) 34 b) 36 c) 40 d) 50


https://www.studyadda.com/question-bank/6th-class/mental-ability/numbers/number-series/5079
https://www.studyadda.com/question-bank/6th-class/mental-ability/numbers/number-series/5079

